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1.  BHIDES0m THEWT W@ dh 5908 120m TE - 72, #EAEEF33 9T 2km #EA 77, 230 72 i
A3 D3sked & (SHkA0F, Afh1430%, BFk272 408, CHk4 45 )
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2. ®WMHHE60m THENWTWZ2RHF D50 150m TE-> 72, KERAEE 380 T3km AT, E - 7=
X3 Dsked & (SHk40FP, Afh1430%, BEk272 408, CHk4 5 )
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1.  BHIDES0m THEWT W@ dh 5908 120m TE - 72, #EAEEF33 9T 2km #EA 77, 230 72 i
A3 D3sked & (SHkA0F, Afh1430%, BFk272 408, CHk4 45 )
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B 60m THWT W8N 5033 150m T - 72, #AEE 38 90 T 3km A 72, - 7=

WA h ke k. ( SHHA0FD, AfK 14 307,

B#k24r40%, CH#k44)

L S
b 1 m/fj\ 7 m b
- 150m/4) x 38 43 _ : -
AN = AN | N
150I:I1/}J C er00m 150{11/]3 150r:n/5j
60m/%>  30q0m |/ 60m/ 7> '
"L ; - "L

7 = 5700 — 3000 = 2700m
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XoT, 7id 720+-90=87 = =TIk 38-8=307
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